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First 15 minutes are allotted for the

candidates to re}ad the question
paper.
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All questions are compulsory.

Question No. 1 is Multiple Choice
Type with four options for each
part. Choose the correct option
and write in the answer-book.
Question Nos. 2 to 6 are Very
Short Answer Type to be
answered in a maximum of
10 words each. Question Nos. 7
to 11 are Short Answer Type
to be answered in a maximum of
100 words each. Question Nos.
12 to 14 are Long Answer Type
which are to be answered in a

maximum of 300 words each.

Marks allotted to the questions

are mentioned against them.
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( Multiple Choice Type Questions )
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1. Select and write the correct answers for

the following questions in your answer-
book :

i)

i)

Frustration can be stopped

a) by marriage

b] by medicines

c) by availing money in
abundance

d) by strong motivation. 1

Function of UNICEF is

a) to protect wild animals

b) to protect the health of
mothers and infants

c) to protect the soldiers

d) none of these. 1
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Family is organized

a)

D)

c)

d)

on the basis of social
relationships

on the basis of financial
interests

on the basis of marriage
institution

none of these. 1

Which problem can be solved by
Family Planning ?

a)
b)

c)

d)

Control on population

Growth of development of
country

Decrease in mother and
infant deaths

All of these. 1

Which state of India had to face
the horrible natural disaster on
16th and 17th June. 20137

a)
b)
c)
d)

Bihar

' Uttar Pradesh
Uttarakhand
Kerala.
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( Very Short Answer Type Questions )
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What do you mean by supplementary

food of infants ? 1
A7 51 F gafea @y & fod am amEeds
w7 1
What is essential to keep balance
between income and expenditure ? 1
T AT GAE F FF SEAES € 7 1

What is the need of National Disaster
Management ? https://www.upboardonline.com 1
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27 1

From where does the formation ol good

virtues in children start ? 1

7o e sfiar & w0 s # 2 1

What is meant by Pulse polio

campaign ? 1
( &Y IH gy )

( Short Answer Type Questions )
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Give any two suggestions to make
family planning programme successful. 2
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What are the defects of (‘h.ﬂd marriage ?
2

What is Dehydration 2 What are its
svmptoms ? 1+ 1
—-;-:E*ramaﬂummﬂm ST faamw HAfae | 2

Give your own thoughts on the
problems of adolescence. '

Write the features of Joint Family. 2
( < 3wt gy )
(Long Answer Type Questions )
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"Family is the first institution of
socialization.” Support this statement.

3
OR

What is meant by frustration ? What
are the causes of frustration ? Write the
result of frustration. 1+2+2
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Why is it essential to look after a
preé;num woman ? Which points should
be kept in mind while looking alter a

pregnant woman ? 2+3
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What is vaccination ? Why is it

essential ? 2+3
OR
Comment on any two of the following :
PN
25 +25

(a) Weaning
(b) Defects of nuclear family

(c) Essential elements of marriage
adjustment.
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